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REMHEE EHLERRBRORRE TRZULGTUBREA=a—
AVRRTL—TF e UKEt  EEEELT  HE BALTF (&)
(A—H—) BHOMWE. A—H—2DROEMEZRHBLTVET, FHEITRAPROEERZHLTVET,
TEEFREA—HD—TCHMELARZLTWVEVLDTY, §5tTIE. 0] ELTEHLTLET,

X5 HE BREA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Bk (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) 45 ()
AiEH HE Bk 235 4.0 0.6 3 0.5 0: 0.05  0.01 0 0.3 0.0
LA=ES 150.00:g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
Kt (ER - #E) 27 2.4 1.1 43 0.7 100 : 0.02 : 0.05 4 0.9 1.1
EFEHRASAAS531) 20.00g 4 0.7 0.0 26 0.3 100 ¢ 0.01 : 0.03 4 0.6 0.1
Ao AME 2.00ig 8 0.4 0.7 6 0.1 0 0.00: 0.00 0 0.0 0.0
B&E A=1=> 7.00ig 13 0.9 0.4 i 0.3 0: 0.00: 0.01 0 0.3 0.9
I=ANAY R 120.00:cc 2 0.4 0.0 4 0.0 0 0.01 i 0.01 0 0.0 0.1
mER (R¥) 35 b.2 1.3 1 0.1 8 0.03 : 0.05 0 0.0 0.2
EHEAIUE (30G: 1.00:i4] 35 5.2 1.3 i 0.1 8 i 0.03: 0.05 0 0.0 0.1
Bif 0.15ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
BREDIE & 83 5.6 6.4 1 0.2 2:0.20: 0.07 1 0.0 0.2
&/ 30.00ig 65 5.6 4.4 1 0.2 2 0.20 : 0.07 1 0.0 0.0
IZAIZK 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
o E R 2.00ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Big 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
BRIA FRy/—<H 0.01 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BRI 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.7 0.0
ME (AL -] 1.00i4 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.7 0.0
BRI FRBE 44 1.1 1.6 44 0.7 38 | 0.03 : 0.02 1 1.3 0.5
RPN 6.00g 17 0.3 0.0 32 0.6 0 0.02: 0.01 0 1.2 0.0
AS 5.00ig 2 0.0 0.0 1 0.0 38 0 0.00 : 0.00 0 0.1 0.0
HBIT OG- 3.00ig 12 0.6 1.0 9 0.1 0: 0.00: 0.00 0 0.0 0.0
fbEE (f-h-) 1.50ig 6 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Bif 0.40ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.4
I AN 50. 00 cc 1 0.2 0.0 2 0.0 0: 0.01: 0.01 0 0.0 0.1
A <A=> 0.60ig 6 0.0 0.6 0 0.0 0: 0.00: 0.00 0 0.0 0.0
FLILEYS S 24 0.3 2.1 10 0.1 9 : 0.01: 0.01 8 0.4 0.2
TRy 20.00ig 5 0.3 0.0 9 0.1 11001 : 0.01 8 0.4 0.0
AS 1.00ig 0 0.0 0.0 0 0.0 8 i 0.00 : 0.00 0 0.0 0.0
ICAIZK 0.01ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
CEim<-h-> 2.00ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Big 0.30ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
A= icd(=)) 0.10ig 1 0.0 0.1 1 0.0 0: 0.00: 0.00 0 0.0 0.0
2I—YSYIR 33 0.2 0.1 3 0.1 1: 0.01 : 0.01 3 0.8 0.0
ZIL—YHAY T [50.00:g 33 0.2 0.1 3 0.1 1:0.01: 0.01 3 0.8 0.0
Va—RX &% 69 1.2 0.0 5 0.3 0: 0.00 @ 0.08 9 0.0 0.0
Lo a—2R (]150.00iml 66 0.9 0.0 0.0
F5 L 150.00:ml| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
BHESE 629 : 26.6 : 17.1 151 4.0 157 i 0.38 i 0.52 25 6.4 2.2
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REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
HE BREA TAZSE ;| B[ 105 - (keal) i A X< H (@) BE® (@ Bk (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) 45 ()
AEH BRE|ZEDH 356 | 10.5 8.4 11 1.0 2 0.25: 0.09 1 0.6 0.9
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
EEEHAS500G|50.00¢g 65 5.6 4.4 1 0.2 2 0.20: 0.07 1 0.0 0.0
CFM<=h-> 3.00ig 27 0.0 3.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BALICAIZLLH-1] 0.50ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
B&F F-1—> 7.00ig 13 0.9 0.4 7 0.3 0 0.00: 0.01 0 0.3 0.9
WEE G- 4.00ig 16 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
EgERA—F 33 0.9 0.7 9 0.0 3 0.03: 0.02 1 0.7 1.0
REERK-I> 3.00ig 10 0.0 0.0 1 0.0 0: 0.00 : 0.00 0 0.1 0.0
A—)a—> 15.00 ¢ 15 0.4 0.2 1 0.0 1 0.02: 0.01 1 0.4 0.0
Ay FIAA (b=p- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0 0.2 0.1
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.8
RIA FRw/—< 0.01 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
AN 120.00icc 2 0.4 0.0 4 0.0 0 0.01: 0.01 0i 0.0 0.1
CFEm<--> 0.50ig 5 0.0 0.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
SESEY L) 87 5.8 6.4 8 0.2 12 : 0.20 : 0.08 5 0.4 0.1
2N 30.00ig 65 5.6 4.4 1 0.2 2 0.20: 0.07 1 0.0 0.0
FrAy 20.00ig 3 0.2 0.0 4 0.1 1 0.00 : 0.00 4 0.2 0.0
AS 2.50ig 1 0.0 0.0 0 0.0 8 : 0.00  0.00 0 0.1 0.0
WAITA 5.00ig 1 0.1 0.0 2 0.0 2 0.00: 0.01 0i 0.1 0.0
B == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.0
Bis 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.1
RIA FRw =< 0.01 g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
Y Leht n 2.1 3.2 10 0.3 78 1 0.04 | 0.02 10 0.8 0.9
SAFYFI2L—4110.00g 28 1.8 2.2 0 0.2 2 0.00: 0.00 0:i 0.0 0.1
LYY ART K 25.00ig 19 0.4 0.0 1 0.1 0: 0.02: 0.01 9 0.3 0.0
AS 10.00: ¢ 4 0.1 0.0 3 0.0 76 1 0.01 : 0.00 0: 0.3 0.0
FEHEAXASARAX1531)[15.00ig 6 0.2 0.0 3 0.0 0: 0.00 : 0.00 1 0.2 0.0
B == 1.00 g 9 0.0 1.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Big 0.70ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
hEE (f-h-) 1.00:g 4 0.0 0.0 0 0.0 0 : 0.00: 0.00 0i 0.0 0.0
LNy 70.00:cc 1 0.2 0.0 2 0.0 0: 0.01 0. 01 0 0.0 0.1
FalLXHSHFR 24 0.3 2.1 10 0.1 9 : 0.01 : 0.01 8 0.4 0.2
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 0. 01 8 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00 0.00 0:i 0.0 0.0
ICAIZK 0.50ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
CFEBO-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.30ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.2
wy3< (@) 0.10ig 1 0.0 0.1 1 0.0 0 0.00: 0.00 0i 0.0 0.0
Y L) 9 0.2 0.0 5 0.1 2002 : 0.01 9 0.2 0.0
F—JIA LD (| 2.00:4] 9 0.2 0.0 5 0.1 2 0.02: 0.01 9 0.2 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—2R (]150.00ml 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEEFREA—HD—TCHMELARZLTWVEVLDTY, §5tTIE. 0] ELTEHLTLET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
AER S&|EfR 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00g 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0i 0.2 0.0
TELHT (H:-Hbhd 6 0.7 0.0 15 0.1 3: 001 : 0.01 1 0.6 1.2
E# 10.00ig 3 0.1 0.0 3 0.0 0: 0.00i 0.00 1 0.2 0.0
Ay FIAA (b=p- 1.00ig 1 0.2 0.0 8 0.1 3:0.00: 0.00 0 0.4 0.2
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
BROEERSE 135 : 11.9 8.6 6 0.2 4 0.43 : 0.15 2: 0.2 0.6
2 NG 60.00:g 103 : 11.8 5.6 2 0.2 2 0.43: 0.15 1 0.0 0.1
FHERASA4AXA1531[10.00ig 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
B85 LEE 0.10ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
H == 3.00icc 28 0.0 3.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
BiE 0.50ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.5
BEERE 1.00:g 0 0.0 0.0 1 0.0 2 0.00: 0.00 0i 0.0 0.0
FREDKRAILEES 86 | 13.8 2.4 23 0.6 56 : 0.11 : 0.14 3 0.5 0.5
FAEUE 60.00 g 80 i 13.4 2.4 8 0.4 6 : 0.10 0 0.12 0 0.0 0.2
FHERASAA53Y [10.00ig 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
F5NAE 10.00:g 2 0.3 0.0 13 0.2 50 : 0.01 ¢ 0.02 2 0.3 0.0
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.3
R4 FRw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
MELPLDEEHAIIT 49 1.1 0.1 9 0.2 149 i 0.04 | 0.05 19 1.6 0.5
NERRS 50.00 g 41 0.9 0.1 7 0.2 149 © 0.03 i 0.04 19 1.6 0.0
1A WAYY 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0 0.0 0.1
E£B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.40g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
254 FRT & 49 0.4 2.7 1 0.1 0: 0.02: 0.01 4 0.5 0.1
U )LART ~ 130.00ig 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
B == 1.50 g 13 0.0 1.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
HOLYFHSH 19 1.5 1.1 5 0.2 9 : 0.01 : 0.02 3 0.4 0.2
HOL 30.00:ig 5 0.6 0.0 5 0.1 0: 0.01 0.02 3 0.4 0.0
AS 1.00 g 0 0.0 0.0 0 0.0 8 : 0.00  0.00 0 0.0 0.0
A MYFITL—2:10.00ig 14 0.9 1.1 0 0.1 1 0.00 : 0.00 0 0.0 0.1
BiE 0.15g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.2
BRIA4 FRy)8—<Hk 0.00ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
RESE)— 50 0.0 0.0 0 0.0 0 0.00 : 0.00 0 0.0 0.0
FKE — 50.00ig 50 0.0 0.0 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00 : 0.08 9: 0.0 0.0
Lo a—=R (]150.00ml 66 0.9 0.0 0.0
F5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
XIEH HEEMR 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
LA=ES 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0i 0.3 0.0
K+ (v ARy - Hbhéd) 30 1.9 1.1 21 0.4 0: 0.02: 0.02 2 0.6 1.0
FrAy 20.00ig 7 0.2 0.0 4 0.0 0 0.01: 0.00 2 0.3 0.0
Hhhed 2.00ig 8 0.4 0.7 6 0.1 0: 0.00 : 0.00 0 0.0 0.0
B&F F-p-> 7.00ig 13 0.9 0.4 7 0.3 0 0.00: 0.01 0 0.3 0.9
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
mEER (FFR) 51 5.2 3.0 2 0.3 6 0.04 : 0.07 0 0.0 0.1
Kt 30.00ig 51 5.2 3.0 2 0.3 6 : 0.04: 0.07 0 0.0 0.1
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.3
B QTRM R & 223 : 15.2 i 14.9 9 0.6 32 0 0.06 i 0.17 3 0.2 0.7
B2H% 90.00 g 180 : 14.6 i 12.6 5 0.4 32 0.06  0.16 3 0.0 0.1
B&F -p=> 5.00ig 9 0.6 0.3 5 0.2 0 0.00: 0.01 0 0.2 0.6
RE (F=h-) 3.30ig 16 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
H <A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
IERHE 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
ME (AL ML 1.00i4 80 6.6 4.0 36 1.3 0 0.03: 0.22 0 2.7 0.0
5 E F 0 m ok 47 1.1 0.1 6 0.6 7:0.05: 0.03 21 1.0 0.3
Y RT k 60.00 g 46 1.0 0.1 2 0.2 0 0.05: 0.02 21 0.8 0.0
Bis 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.3
RIA FRw/—<F 0.01g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
=12 0.50ig 1 0.1 0.0 4 0.4 71 0.00: 0.01 0i 0.2 0.0
13 YVFIoYSH 1 0.3 0.1 9 0.1 9 : 0.01 : 0.01 8 0.4 0.0
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 : 0.01 8i 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0:i 0.0 0.0
12YF7o Ly 1.00ig 2 0.0 0.1 0 0.0 0: 0.00: 0.00 0 0.0 0.0
ZIL—YZIVIRX 33 0.2 0.1 3 0.1 1:0.01 : 0.01 3 0.8 0.0
ZIL—Y AT TIL (i50.00ig 33 0.2 0.1 3 0.1 1 0.01 0.01 3 0.8 0.0
Pa—R - &&E 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00ml 66 0.9 0.0 0.0
F5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
HEeait 775 ¢ 35.7 | 23.9 93 4.2 55 1 0.27 | 0.62 45 6.0 2.2
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Rir & i DR
REMAEE CHLEREABROREE TRK7ULLTUREAZa—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
NER REFXF—<HIL— 390 | 10.8 : 10.4 26 1.4 72 i 0.29 : 0.10 6 2.3 1.3
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
%A 30.00ig 66 5.6 4.5 2 0.3 4 0.19 : 0.07 1 0.0 0.0
FEHERXSARA1531):40.00i¢ 15 0.4 0.0 8 0.1 0 0.01: 0.00 3 0.6 0.0
SwHARTHE T 20.00ig 15 0.6 0.1 4 0.1 68 : 0.03 : 0.02 2 0.8 0.0
H == 5.00icc 46 0.0 5.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Big 0.80ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.8
RIA FRw/s—<F 0.10 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
hL—% 1.50 g 6 0.2 0.2 8 0.4 0: 0.01 0.00 0 0.6 0.0
DAB—YY—R {f=i 6.00cc 7 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.4
FE5SNABREFREDOR—T 11 0.9 0.0 21 0.2 50 : 0.03 i 0.03 4 0.6 0.9
F3NAE 10.00 ¢ 2 0.3 0.0 13 0.2 50 : 0.01 @ 0.02 2 0.3 0.0
FHERASGAA1531):20.00ig 7 0.2 0.0 4 0.0 0: 0.01: 0.00 2 0.3 0.0
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.8
$B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 : 0.00: 0.00 0 0.0 0.0
R4 FARw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
LYY 120.00icc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0i 0.0 0.1
R—=U9Y5— 152 ¢ 11.2 | 10.3 1 0.3 3: 041 : 0.13 3 0.3 0.2
2N 60.00 g 130 © 11.0 8.8 2 0.3 3 040 : 0.13 1 0.0 0.1
EAHLICAIZCLH-h 0.50ig 1 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
FHERASGAA1531):20.00ig 7 0.2 0.0 4 0.0 0: 0.01i 0.00 2 0.3 0.0
B == 1.50 g 14 0.0 1.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
R4 FARwy/s—< 0.02ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
hES 2 DEY 42 1.1 0.1 9 0.2 149 : 0.04 | 0.05 19 1.6 0.5
NERRS 50.00:g 41 0.9 0.1 i 0.2 149 : 0.03 : 0.04 19 1.6 0.0
LAy Y 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
E£B5ALEE 0.50ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
I—J)LRAA—YFHYS5H& 33 2.1 2.2 9 0.3 1 : 0.01 : 0.01 8 0.4 0.3
FrAy 20.00ig 5 0.3 0.0 9 0.1 1:0.01 : 0.01 8i 0.4 0.0
A5 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
SA4AFYFI2L—41{10.00g 28 1.8 2.2 0 0.2 2 0.00: 0.00 0 0.0 0.1
Bif 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
BY (JL—F2.L—Y) 14 0.3 0.0 5 0.0 0: 0.03 : 0.01 13 0.2 0.0
SJL—F7)L—Y (¢ 2.00i4] 14 0.3 0.0 5 0.0 0: 0.03: 0.01 13 0.2 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00: 0.08 9: 0.0 0.0
AL a—=R (i150.00m| 66 0.9 0.0 0.0
IF5 L% 150. 00im| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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REMHEE EHLERRBRORRE TRFZUILNTURBREA=Za2—
AVRRTL—TF e UKEt  EEEELT  HE BALTF (@)
(A—H—) BHOMWE. A—H—2DROEMEZRHBLTVET, FHEITRAPROEERZHLTVET,
TEEFREA—HD—TCHMELARZLTWVEVLDTY, §5tTIE. 0] ELTEHLTLET,

X5 HE BREA TALSE | B[ 144 - (keal) i =A< E (0) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
KiEBR YEBER 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00ig 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0 0.2 0.0
FTELT (A - Hho) 5 0.5 0.0 9 0.0 40 : 0.01 : 0.01 0 0.3 1.0
AS 5.00ig 2 0.0 0.0 1 0.0 381 0.00 i 0.00 0 0.1 0.0
Ay RIAA (f-h- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0 0.2 0.1
Bif 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
I=ANAY R 120.00icc 2 0.4 0.0 4 0.0 0 0.01 i 0.01 0 0.0 0.1
EROmEES 151 : 10.2 : 10.8 3 0.3 23 1 0.04 : 0.11 2 0.0 0.9
®BH1 60.00ig 126 : 10.2 8.8 3 0.3 23 1 0.04 : 0.11 2 0.0 0.1
B85 L4EE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.4
RAA—)—X ()= 6.00:cc 7 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
A<= 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
1ALHBREOVDHED 56 4.8 2.3 19 0.3 60 : 0.03 : 0.04 17 1.5 0.6
LWAVEM (10g) <4120.00ig 18 3.6 0.2 3 0.0 3001 0.01 0 0.0 0.2
JOowy3gl)— 30.00:g 8 1.1 0.1 10 0.2 19 : 0.02 : 0.03 16 1.1 0.0
EHEAXASARX1531)i10.00g 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
A 5.00ig 2 0.0 0.0 1 0.0 38 i 0.00: 0.00 0 0.1 0.0
A A= 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Figy) —ZXp=h-> 5.00icc 6 0.0 0.0 3 0.1 0 0.00: 0.00 0 0.1 0.3
Big 0.10ig 0 0.0 0.0 0 0.0 0i 0.00: 0.00 0 0.0 0.1
BIA FRy/N—<H 0.01 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BERE C v A% 60 2.9 1.9 10 0.1 76 : 0.11 : 0.05 11 0.8 0.8
B /INE 10.00 g 17 2.0 0.9 0 0.0 0i 0.07 i 0.03 0 0.0 0.0
ALY RT k 25.00ig 19 0.4 0.0 1 0.1 0 0.02: 0.01 9 0.3 0.0
N 10.00: g 4 0.1 0.0 3 0.0 76 ¢ 0.01 : 0.00 0 0.3 0.0
FHEASARXR1531)]15.00¢g 6 0.2 0.0 3 0.0 0 0.00: 0.00 1 0.2 0.0
A A== 1.00:g 9 0.0 1.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.70ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
oHE (F-h-) 1.00: g 4 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
=L/ 70.00icc 1 0.2 0.0 2 0.0 0i 0.01 i 0.01 0 0.0 0.1
BERT b 50 0.5 2.7 4 0.5 7 0.02: 0.02 4 0.7 0.2
Y 9 )LRT K 130.00 ¢ 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
=120 0.50ig 1 0.1 0.0 4 0.4 7 :0.00: 0.01 0 0.2 0.0
A A= 1.50:g 13 0.0 1.5 0 0.0 0 0.00: 0.00 0 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
I RYDYFHS 4 16 1.0 1.1 3 0.1 9: 0.00: 0.00 1 0.2 0.2
Ty 10.00: g 2 0.1 0.0 2 0.0 0i 0.00: 0.00 1 0.2 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 0.00: 0.00 0 0.0 0.0
A KYFIL—2: 500¢g 14 0.9 1.1 0 0.1 1:0.00: 0.00 0 0.0 0.1
Big 0.15ig 0 0.0 0.0 0 0.0 0i 0.00: 0.00 0 0.0 0.2
R4 FRws—<4 0.00ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
YASEY— 62 0.0 0.0 0 0.0 2 0.00: 0.00 1 1.0 0.0
HAKEY — 85.00ig 62 0.0 0.0 0 0.0 2 0.00: 0.00 1 1.0 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—Z (i150.00iml 66 0.9 0.0 0.0
F5 L% 150. 00im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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Ei'-Lt Ry 0)""'
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

T A —H—THMEARELTUDALLOTT, AHTE. [0) ELTAELTLET,
B5 2 BAE A28 | Bk e - (oal) ARCE @] BB | MWkGe) | (o) | IDAGue) | ESOBIME) | ESTB2Me) | EIDCMe) | BMEKGE | B9 @
KEH FE|BR 235 4.0 0.6 3 0.5 0 0.05: 0.01 0 03 0.0
LEA=E 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
BRIt (LWAFA - CohiF) 26 2.0 1.1 51 1.0 52 : 0.03 : 0.05 8 0.7 1.0
WAIFA 20.00:g 3 0.3 0.0 34 0.6 52 : 0.02 : 0.03 8 0.4 0.0
CedlEd4/4X10: 2.00¢g 8 0.4 0.7 6 0.1 0 : 0.00: 0.00 0 0.0 0.0
BHT <F-h=> 1.00:g 13 0.9 0.4 1 0.3 0: 0.00: 0.01 0 0.3 0.9
LSy ) 120.00:cc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0 0.0 0.1
g (1) 51 5.2 3.0 2 0.3 6 : 0.04 : 0.07 0 0.0 0.1
ARz 25.00:¢g 51 5.2 3.0 2 0.3 6 : 0.04 0.07 0 0.0 0.1
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.3
BAOYTFv v T 114 @ 10.1 6.7 5 0.2 5 0.36 : 0.13 2 0.3 0.6
2 ¥NE 50.00:g 86 9.9 4.7 2 0.2 2 036 013 1 0.0 0.1
FHEARAIAA1551):10.00:¢g 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
<A 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
RIA FRwy =<} 0.02:¢g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Yo FryT ( 500¢g 6 0.1 0.0 1 0.0 3 : 0.00: 0.00 0 0.1 0.2
BHRAE 80 6.6 4.0 36 1.3 0 0.03: 0.22 0 27 0.0
ME (2L -mHL: 1.00 4 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
RT EEVFOEY 93 3.4 5.3 4 0.3 1 0.04  0.01 15 0.7 0.6
EYYRT E 40.00:g 30 0.6 0.0 1 0.2 0:0.04: 0.01 14 0.5 0.0
FAMYFIL—7:15.00g 40 2.1 3.3 1 0.1 110,00 : 0.00 0 0.0 0.1
FHEARAIAA1551):10.00:¢g 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
<A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BEALICAIZLH-1: 0.50i¢g 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.50ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.5
R4 FRwy/—=<}: 0.01ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
AL—#H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
FTLLEYSH 24 0.3 2.1 10 0.1 9 0.01: 0.01 8 0.4 0.2
FyAY 20.00:g 5 0.3 0.0 9 0.1 1.:.0.01 : 0.01 8 0.4 0.0
A 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
ISAlzL 0.01ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.0
CEMIND 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.30ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.2
A= Ic4{=)) 0.10ig 1 0.0 0.1 1 0.0 0: 0.00: 0.00 0 0.0 0.0
IN—VYIvIR 33 0.2 0.1 3 0.1 1 0.01 : 0.01 3 0.8 0.0
IN—YhYTI £50.00¢g 33 0.2 0.1 3 0.1 1: 0.01 : 0.01 3 0.8 0.0
Pa—R - T&HF 69 1.2 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
AL a—2RX (:150.00im| 66 0.9 0.0 0.0
F5 L& 150. 00:m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
HRSHE 125 33 23 118 4 14 1 1 45 6 3
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Ei'-Lt Ry 0)""'
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA | TAZSE ;| B[ 105 - (keal) i A X< H (@) BE® (@ Bk (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) =5 ()
KIEE BREBIEEV/AF (EHRKELR) 351 11.2 8.1 47 1.3 256 : 0.28 : 0.13 1 2.0 1.1
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
%A 30.00ig 66 5.6 4.5 2 0.3 4 0.19 : 0.07 1 0.0 0.0
E3NAE 20.00ig 4 0.7 0.0 26 0.3 100 © 0.01 i 0.03 4 0.6 0.1
HHoL 20.00ig 1 0.7 0.3 5 0.1 0: 0.02: 0.01 1 0.5 0.0
AS 20.00:ig 7 0.1 0.0 6 0.0 152 1 0.01 : 0.01 1 0.5 0.0
nwy < (\) 0.50ig 3 0.1 0.3 6 0.1 0: 0.00 : 0.00 0 0.1 0.0
CFM<=h-> 3.00ig 28 0.0 3.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
BALICAIZLLH-: 0.50ig 1 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BiE 1.00ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 1.0
BEkERRA—F 33 0.9 0.7 9 0.0 3:0.03: 0.02 1 0.7 1.0
BREERK-I-> 3.00ig 10 0.0 0.0 1 0.0 0 0.00: 0.00 0i 0.1 0.0
hA—)a—> 15.00 ¢ 15 0.4 0.2 1 0.0 1:.0.02: 0.01 1 0.4 0.0
Ay FIAA G- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0i 0.2 0.1
BiE 0.80g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
R4 FARw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
1A WAYY 120.00:cc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0i 0.0 0.1
CFEm<A--> 0.50ig 5 0.0 0.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BRRXAZ S TS 140 @ 12.2 1.6 11 0.3 10 : 0.45 : 0.16 8 0.8 0.7
2N 60.00: g 103 © 11.8 5.6 2 0.2 2 0.43: 0.15 1 0.0 0.1
EALIZAIZLLA=hi 0.50ig 1 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
IZAIZ DEF 15.00 ¢ 7 0.3 0.0 6 0.1 8 : 0.02: 0.01 6 0.6 0.0
FHERASGAA1531)[15.00ig 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
B == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.0
BiE 0.20g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.2
DARA—Y—R {}=i 6.00icc 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
Lot DHADIT 53 1.1 0.0 4 0.3 0: 0.07 | 0.03 21 0.8 0.5
LYY ART b 60.00:g 45 0.9 0.0 2 0.3 0: 0.06 : 0.02 21 0.8 0.0
LAy Y 70.00:cc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
E£B5ALEE 1.00: g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
13 VFIoYSHE 1 0.3 0.1 9 0.1 9 : 0.01 : 0.01 8 0.4 0.0
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 0. 01 8 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00 0.00 0:i 0.0 0.0
A R2Y)F72 Ly 1.00g 2 0.0 0.1 0 0.0 0: 0.00: 0.00 0 0.0 0.0
2% (L) 9 0.2 0.0 5 0.1 2 0.02: 0.01 9: 0.2 0.0
F—JIA LD ( 2.004] 9 0.2 0.0 5 0.1 2 002 0.01 9 0.2 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00 : 0.08 9: 0.0 0.0
AL a—=R (i150.00m| 66 0.9 0.0 0.0
IF5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
KIEH Y& B8R 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00g 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0i 0.2 0.0
TELHT (H:-Hbhd 6 0.7 0.0 15 0.1 3: 001 : 0.01 1 0.6 1.2
E# 10.00ig 3 0.1 0.0 3 0.0 0: 0.00i 0.00 1 0.2 0.0
Ay FIAA (b=p- 1.00ig 1 0.2 0.0 8 0.1 3:0.00: 0.00 0 0.4 0.2
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
B ZFokmEpE 133 : 10.7 1.5 19 0.5 2  0.36: 0.14 1 0.3 0.7
2 NG 50.00:ig 86 9.9 4.7 2 0.2 2 0.36: 0.13 1 0.0 0.1
B&F F-1—> 500ig 10 0.6 0.3 5 0.2 0 0.00: 0.01 0 0.2 0.6
hoRE (A=) 3.30ig 13 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
H == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
A E=kd(=)) 1.00 g 6 0.2 0.5 12 0.1 0 0.00: 0.00 0 0.1 0.0
fEQhERSIEL 83 | 12.4 1.8 19 0.5 9 { 0.07: 0.23 9 0.6 0.3
=5 30.00ig 56 ¢ 12.0 5.8 8 0.4 8: 0.06 0.22 0 0.0 0.1
FrAy 20.00 g 5 0.3 0.0 9 0.1 1 0.01 : 0.01 8 0.4 0.0
FHERASAA1531):10.00ig 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
ICAIZK 0.10ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0:i 0.0 0.0
CEim<-h-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Bis 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.2
HRIA FRw—<F 0.01 g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
BE0hHL—HALIT 56 1.7 0.3 26 0.9 77 ¢ 0.07 | 0.03 3 2.0 0.5
Bx 50.00ig 36 1.1 0.1 10 0.3 0 0.04: 0.01 3 1.0 0.0
AS 10.00:g 4 0.1 0.0 3 0.0 76 1 0.01 ¢ 0.00 0i 0.3 0.0
LAy Y 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0:i 0.0 0.1
hL—% 2.00ig 8 0.3 0.2 11 0.6 1 0.01 0. 01 0 0.7 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
254 FRT & 49 0.4 2.7 1 0.1 0: 0.02: 0.01 4 0.5 0.1
U )LART ~ 130.00ig 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
B == 1.50g 13 0.0 1.5 0 0.0 0 : 0.00: 0.00 0i 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
FRLEbhedHDF LIV 24 0.8 2.1 14 0.2 3: 001 : 0.02 3 0.8 0.4
HOL 30.00ig 5 0.6 0.0 5 0.1 0 0.01 0.02 3 0.4 0.0
Ay kA A G- 1.00:g 1 0.2 0.0 8 0.1 3: 0.00: 0.00 0 0.4 0.2
Big 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
CEM<-h-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
ICAIZK 0.01ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
wy3< (@) 0.10ig 1 0.0 0.1 1 0.0 0 0.00: 0.00 0i 0.0 0.0
RESEY— 50 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
HFEAKEY— 50.00ig 50 0.0 0.0 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00m| 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
KiEH FAE|8fR 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
LA=ES 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0i 0.3 0.0
K+ (v ARy - Hbhéd) 26 2.0 1.1 51 1.0 52 : 0.03 : 0.05 8 0.7 1.0
FrAy 20.00ig 3 0.3 0.0 34 0.6 52 i 0.02 : 0.03 8i 0.4 0.0
Hhhed 2.00ig 8 0.4 0.7 6 0.1 0: 0.00 : 0.00 0 0.0 0.0
B&F F-p-> 7.00ig 13 0.9 0.4 7 0.3 0 0.00: 0.01 0 0.3 0.9
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
EER (275) 40 6.7 1.2 4 0.2 3 0.05: 0.06 0 0.0 0.3
EmMYREiE (30G:30.00ig 40 6.7 1.2 4 0.2 3:0.05: 0.06 0 0.0 0.1
BiE 0.15ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.2
BRAOEND 199 | 14.7 | 14.6 5 0.4 32 0 0.07 i 0.17 3 0.0 0.3
B2H% 90.00 g 180 : 14.6 i 12.6 5 0.4 32 0.06  0.16 3 0.0 0.1
BiE 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
LNy Y 20. 00icc 1 0.1 0.0 1 0.0 0 0.01: 0.01 0i 0.0 0.0
H <A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
IERHE 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
ME (AL ML 1.00i4 80 6.6 4.0 36 1.3 0 0.03: 0.22 0 2.7 0.0
EBHRUOLCEXE 29 0.9 1.6 21 0.2 41 : 0.01 i 0.01 0 0.6 0.5
ERULE 0.90ig 2 0.1 0.0 9 0.1 3: 0.00: 0.00 0 0.5 0.0
AS 5.00ig 2 0.0 0.0 1 0.0 38 1 0.00 : 0.00 0i 0.1 0.0
HE T G- 3.00ig 12 0.6 1.0 9 0.1 0 0.00: 0.00 0i 0.0 0.0
hRE (F=h-) 1.50 g 6 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.40g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
LNy Y 50. 00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
H <A 0.60ig 6 0.0 0.6 0 0.0 0 0.00: 0.00 0 0.0 0.0
13 IVFoYSH 1 0.3 0.1 9 0.1 9 ! 0.01 : 0.01 8 0.4 0.0
FrAy 20.00ig 5 0.3 0.0 9 0.1 1. .0.01: 0.01 8 0.4 0.0
AS 1.00ig 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
137 FLy| 1.00:g 2 0.0 0.1 0 0.0 0 0.00: 0.00 0i 0.0 0.0
ZIL—YSvHIR 33 0.2 0.1 3 0.1 1:0.01: 0.01 3 0.8 0.0
ZIL—YHAY T . 50.00ig 33 0.2 0.1 3 0.1 1 0.01: 0.01 3 0.8 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00m| 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
HEEE 117 37 23 135 4 138 0 1 31 5 2
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E:Ié: Ry ooﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
KIER BB|—7— FihoHF 364 : 11.3 9.3 14 0.8 132 i 0.10 | 0.02 2 1.5 1.2
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
WAVEM (10g) <A 2.00: 4 18 3.6 0.2 2 0.0 2:0.02: 0.00 0 0.0 0.2
SAMYFIL—%4:15.00g 40 2.7 3.3 1 0.1 1 0.00 : 0.00 0i 0.0 0.1
FEHRXSARX1531):20.00ig 1 0.2 0.0 4 0.0 0: 0.01 0.00 2 0.3 0.0
SwHIARTZT)I:20.00:g 18 0.8 0.2 4 0.2 129 © 0.02 i 0.01 1 0.9 0.0
A A=h> 5.00icc 46 0.0 5.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BALIZAIZL -1 0.10ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.80:ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.8
HRIA FRw =< 0.10 g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
hhhEa—rnR—7F 18 1.0 0.2 13 0.1 4: 0.03 : 0.02 1 0.8 1.1
AV ETHA G- 1.00¢g 1 0.2 0.0 8 0.1 3: 0.00  0.00 0i 0.4 0.2
hA—)a—> 15.00 ¢ 15 0.4 0.2 1 0.0 1:.0.02: 0.01 1 0.4 0.0
E£B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.70:g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
R4 FARw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
LYY 120.00icc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0i 0.0 0.1
R=2IYT—5F ¥ v TRAK 114 : 10.1 6.7 5 0.2 5:0.36 : 0.13 2 0.3 0.6
2N 50.00:g 86 9.9 4.7 2 0.2 2 0.3 : 0.13 1 0.0 0.1
FHEXSARX1531):10.00i¢ 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
B == 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Bis 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
RIA RRw—<3 0.02'g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
F~bk5FrvF ( 500g 6 0.1 0.0 1 0.0 3: 0.00: 0.00 0i 0.1 0.2
hES 2 DEY 42 1.1 0.1 9 0.2 149 : 0.04 | 0.05 19 1.6 0.5
NERRS 50.00:g 41 0.9 0.1 i 0.2 149 : 0.03 : 0.04 19 1.6 0.0
LAy Y 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
E£B5ALEE 0.50ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
I—J)LRAA—YFHYS5H& 33 2.1 2.2 9 0.3 1 : 0.01 : 0.01 8 0.4 0.3
FrAy 20.00ig 5 0.3 0.0 9 0.1 1:0.01 : 0.01 8i 0.4 0.0
A5 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
SA4AFYFI2L—41{10.00g 28 1.8 2.2 0 0.2 2 0.00: 0.00 0 0.0 0.1
Bif 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
BY (JL—F2.L—Y) 14 0.3 0.0 5 0.0 0: 0.03 : 0.01 13 0.2 0.0
SJL—F7)L—Y (¢ 2.00i4] 14 0.3 0.0 5 0.0 0: 0.03: 0.01 13 0.2 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00: 0.08 9: 0.0 0.0
AL a—=R (i150.00m| 66 0.9 0.0 0.0
IF5 L% 150. 00im| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
KiEH Y& B8R 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00g 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0i 0.2 0.0
FTELHT (AB - DH ) 5 0.5 0.0 9 0.0 40 : 0.01 : 0.01 0 0.3 1.0
AS 5.00ig 2 0.0 0.0 1 0.0 38 0.00 i 0.00 0i 0.1 0.0
Ay FIJAA (b=p- 0.50ig 1 0.1 0.0 4 0.0 2: 0.00: 0.00 0 0.2 0.1
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
EROmEES 151 : 10.2 | 10.8 3 0.3 23 0.04 i 0.11 2: 0.0 0.9
54 60.00ig 126 : 10.2 8.8 3 0.3 23 0 0.04 : 0.11 2 0.0 0.1
B85 L4EE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Big 0.20ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.4
DAZ—=)—2 (4= 6.00cc 7 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.4
H <A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.0
fEnERGIT 132 | 10.4 8.5 4 0.6 12 : 0.08 : 0.14 0 0.0 0.6
B 5 50.00ig 102 : 10.4 6.0 4 0.6 12 0.08: 0.14 0 0.0 0.2
E£B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
REH 2.00ig 7 0.0 0.0 0 0.0 0 0.00: 0.00 0:i 0.0 0.0
H <A 2.50icc 23 0.0 2.5 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
BRE C A% 60 2.9 1.9 10 0.1 76 ¢ 0.11 | 0.05 11 0.8 0.8
2N 10.00:g 17 2.0 0.9 0 0.0 0: 0.07: 0.03 0i 0.0 0.0
ALY RT k 25.00 g 19 0.4 0.0 1 0.1 0 0.02: 0.01 9 0.3 0.0
AS 10.00 ¢ 4 0.1 0.0 3 0.0 76 1 0.01 : 0.00 0 0.3 0.0
EHEXSARAX1531)[15.00i¢g 6 0.2 0.0 3 0.0 0 0.00: 0.00 1 0.2 0.0
B == 1.00:g 9 0.0 1.0 0 0.0 0 : 0.00: 0.00 0:i 0.0 0.0
Big 0.70ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
hEE (f-h-) 1.00 g 4 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
LNy 70.00icc 1 0.2 0.0 2 0.0 0: 0.01 0. 01 0 0.0 0.1
BERT k 50 0.5 2.7 4 0.5 7:0.02: 0.02 4 0.7 0.2
U )LART ~ 130.00ig 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
=100 0.50ig 1 0.1 0.0 4 0.4 71 0.00: 0.01 0 0.2 0.0
A A=h> 1.50.g 13 0.0 1.5 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
Bis 0.10ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.1
FXRYDQYFHSH 16 1.0 1.1 3 0.1 9 : 0.00 : 0.00 1 0.2 0.2
FrAy 10.00: g 2 0.1 0.0 2 0.0 0 : 0.00: 0.00 1 0.2 0.0
A5 1.00. g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
SA4AMYFIL—%9: 5.00g 14 0.9 1.1 0 0.1 11 0.00 : 0.00 0 0.0 0.1
Big 0.15ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.2
RIA FRw =< 0.00g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
VAZSEY)— 62 0.0 0.0 0 0.0 2 0.00 : 0.00 1 1.0 0.0
HFEAKEY— 85.00ig 62 0.0 0.0 0 0.0 2 0.00: 0.00 1 1.0 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00m| 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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Ei'-Lt Ry 0)""'
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

T A —H—THMEARELTUDALLOTT, AHTE. [0) ELTAELTLET,
B5 2 BAE AL 8 BT - (oal) 1A CE®] BREG | WAMD | 0o i SDAGue) | EATBI M) | L IUBE) | b ICe) | RUE# ()| 185 ®
*HEH FEER 235 4.0 0.6 3 0.5 0 0.05: 0.01 0 03 0.0
LEA=E 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
Mt (E& - #E) 21 2.4 1.1 43 0.7 100 : 0.02 : 0.05 4 0.9 1.1
FHERATIAAS5Z) 120.00¢g 4 0.7 0.0 26 0.3 100 ¢ 0.01 i 0.03 4 0.6 0.1
AoAAME 2.00ig 8 0.4 0.7 6 0.1 0 : 0.00: 0.00 0 0.0 0.0
B&HT <F-h=> 1.00:g 13 0.9 0.4 1 0.3 0: 0.00: 0.01 0 0.3 0.9
LSy ) 120.00:cc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0 0.0 0.1
prEf (R¥) 35 5.2 1.3 1 0.1 8  0.03 : 0.05 0 0.0 0.2
BERTYS (30G; 1.00t] 35 5.2 1.3 1 0.1 8 : 0.03: 0.05 0 0.0 0.1
BiE 0.15g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
FEROIED ® 83 5.6 6.4 1 0.2 2 0.20: 0.07 1 0.0 0.2
2 ¥NE 30.00:g 65 5.6 4.4 1 0.2 2 :0.20: 0.07 1 0.0 0.0
IcAal=X 0.10:ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
CEBG 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
RIA FRysS—=<¥ 0.01 g 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
Bk E 80 6.6 4.0 36 1.3 0: 0.03 : 0.22 0: 2.7 0.0
ME (2L - L{ 1.00 4 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
BRI FXIBER 44 1.1 1.6 44 0.7 38 . 0.03 : 0.02 1 1.3 0.5
U+ KB 6.00:g 17 0.3 0.0 32 0.6 0:0.02: 001 0 1.2 0.0
A 5.00:ig 2 0.0 0.0 1 0.0 38 : 0.00 : 0.00 0 0.1 0.0
BT F-h-) 3.00ig 12 0.6 1.0 9 0.1 0: 0.00: 0.00 0 0.0 0.0
fhwE (-0 1.50 g 6 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.40:g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
L/ 90.00:cc 1 0.2 0.0 2 0.0 0:0.01: 0.0 0 0.0 0.1
B <A 0.60ig 6 0.0 0.6 0 0.0 0 0.00: 0.00 0 0.0 0.0
FTLLEYSH 24 0.3 2.1 10 0.1 9  0.01: 0.01 8 0.4 0.2
FyAY 20.00:g 5 0.3 0.0 9 0.1 1...0.01 : 0.01 8 0.4 0.0
A 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
ISAlzL 0.01ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.0
CEMIND 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.30ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.2
A= Ic4{=)) 0.10ig 1 0.0 0.1 1 0.0 0: 0.00: 0.00 0 0.0 0.0
IN—VYIvIR 33 0.2 0.1 3 0.1 1:0.01 : 0.01 3 0.8 0.0
FZI—YHUTI (]50.00g 33 0.2 0.1 3 0.1 11 0.01 : 0.01 3 0.8 0.0
Va—R - &&F 69 1.2 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
ALrova—R (]150.00m| 66 0.9 0.0 0.0
F5 L& 150. 00:m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
HRSHE 629 : 26.6 @ 17.1 151 4.0 157 i 0.38 : 0.52 25 6.4 2.2
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Ei'-Lt Ry 0)""'
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAZSE ;| B[ 105 - (keal) i A X< H (@) BE® (@ Bk (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) =5 ()
®EQ BB ZEEAH 356 | 10.5 8.4 11 1.0 2 0.25: 0.09 1 0.6 0.9
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
EEEHAS500G|50.00¢g 65 5.6 4.4 1 0.2 2 0.20: 0.07 1 0.0 0.0
CFM<=h-> 3.00ig 27 0.0 3.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BALICAIZLLH-1] 0.50ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
B&F F-1—> 7.00ig 13 0.9 0.4 7 0.3 0 0.00: 0.01 0 0.3 0.9
WEE G- 4.00ig 16 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
EgERA—F 33 0.9 0.7 9 0.0 3 0.03: 0.02 1 0.7 1.0
REERK-I> 3.00ig 10 0.0 0.0 1 0.0 0: 0.00 : 0.00 0 0.1 0.0
A—)a—> 15.00 ¢ 15 0.4 0.2 1 0.0 1 0.02: 0.01 1 0.4 0.0
Ay FIAA (b=p- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0 0.2 0.1
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.8
RIA FRw/—< 0.01 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
AN 120.00icc 2 0.4 0.0 4 0.0 0 0.01: 0.01 0i 0.0 0.1
CFEm<--> 0.50ig 5 0.0 0.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
SESEY L) 87 5.8 6.4 8 0.2 12 : 0.20 : 0.08 5 0.4 0.1
2N 30.00ig 65 5.6 4.4 1 0.2 2 0.20: 0.07 1 0.0 0.0
FrAy 20.00ig 3 0.2 0.0 4 0.1 1 0.00 : 0.00 4 0.2 0.0
AS 2.50ig 1 0.0 0.0 0 0.0 8 : 0.00  0.00 0 0.1 0.0
WAITA 5.00ig 1 0.1 0.0 2 0.0 2 0.00: 0.01 0i 0.1 0.0
B == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.0
Bis 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.1
RIA FRw =< 0.01 g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
Y Leht n 2.1 3.2 10 0.3 78 1 0.04 | 0.02 10 0.8 0.9
SAFYFI2L—4110.00g 28 1.8 2.2 0 0.2 2 0.00: 0.00 0:i 0.0 0.1
LYY ART K 25.00ig 19 0.4 0.0 1 0.1 0: 0.02: 0.01 9 0.3 0.0
AS 10.00: ¢ 4 0.1 0.0 3 0.0 76 1 0.01 : 0.00 0: 0.3 0.0
FEHEAXASARAX1531)[15.00ig 6 0.2 0.0 3 0.0 0: 0.00 : 0.00 1 0.2 0.0
B == 1.00 g 9 0.0 1.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Big 0.70ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
hEE (f-h-) 1.00:g 4 0.0 0.0 0 0.0 0 : 0.00: 0.00 0i 0.0 0.0
LNy 70.00:cc 1 0.2 0.0 2 0.0 0: 0.01 0. 01 0 0.0 0.1
FalLXHSHFR 24 0.3 2.1 10 0.1 9 : 0.01 : 0.01 8 0.4 0.2
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 0. 01 8 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00 0.00 0:i 0.0 0.0
ICAIZK 0.50ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
CFEBO-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.30ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.2
wy3< (@) 0.10ig 1 0.0 0.1 1 0.0 0 0.00: 0.00 0i 0.0 0.0
Y L) 9 0.2 0.0 5 0.1 2002 : 0.01 9 0.2 0.0
F—JIA LD (| 2.00:4] 9 0.2 0.0 5 0.1 2 0.02: 0.01 9 0.2 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—2R (]150.00ml 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEEFREA—HD—TCHMELARZLTWVEVLDTY, §5tTIE. 0] ELTEHLTLET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
+EH Y& 88k 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00g 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0i 0.2 0.0
TELHT (H:-Hbhd 6 0.7 0.0 15 0.1 3: 001 : 0.01 1 0.6 1.2
E# 10.00ig 3 0.1 0.0 3 0.0 0: 0.00i 0.00 1 0.2 0.0
Ay FIAA (b=p- 1.00ig 1 0.2 0.0 8 0.1 3:0.00: 0.00 0 0.4 0.2
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
BROEERSE 135 : 11.9 8.6 6 0.2 4 0.43 : 0.15 2: 0.2 0.6
2 NG 60.00:g 103 : 11.8 5.6 2 0.2 2 0.43: 0.15 1 0.0 0.1
FHERASA4AXA1531[10.00ig 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
B85 LEE 0.10ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
H == 3.00icc 28 0.0 3.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
BiE 0.50ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.5
BEERE 1.00:g 0 0.0 0.0 1 0.0 2 0.00: 0.00 0i 0.0 0.0
FREDKRAILEES 86 | 13.8 2.4 23 0.6 56 : 0.11 : 0.14 3 0.5 0.5
FAEUE 60.00 g 80 i 13.4 2.4 8 0.4 6 : 0.10 0 0.12 0 0.0 0.2
FHERASAA1531)[10.00ig 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
F5NAE 10.00:g 2 0.3 0.0 13 0.2 50 : 0.01 ¢ 0.02 2 0.3 0.0
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.3
R4 FRw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
MELPLDEEHAIIT 49 1.1 0.1 9 0.2 149 i 0.04 | 0.05 19 1.6 0.5
NERRS 50.00 g 41 0.9 0.1 7 0.2 149 © 0.03 i 0.04 19 1.6 0.0
1A WAYY 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0 0.0 0.1
E£B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.40g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
254 FRT & 49 0.4 2.7 1 0.1 0: 0.02: 0.01 4 0.5 0.1
U )LART ~ 130.00ig 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
B == 1.50 g 13 0.0 1.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
HOLYFHSH 19 1.5 1.1 5 0.2 9 : 0.01 : 0.02 3 0.4 0.2
HOL 30.00:ig 5 0.6 0.0 5 0.1 0: 0.01 0.02 3 0.4 0.0
AS 1.00 g 0 0.0 0.0 0 0.0 8 : 0.00  0.00 0 0.0 0.0
A MYFITL—2:10.00ig 14 0.9 1.1 0 0.1 1 0.00 : 0.00 0 0.0 0.1
BiE 0.15g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.2
BRIA4 FRy)8—<Hk 0.00ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
RESE)— 50 0.0 0.0 0 0.0 0 0.00 : 0.00 0 0.0 0.0
FKE — 50.00ig 50 0.0 0.0 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00 : 0.08 9: 0.0 0.0
Lo a—=R (]150.00ml 66 0.9 0.0 0.0
F5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
TiEH FE 8k 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
LA=ES 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0i 0.3 0.0
K+ (v ARy - Hbhéd) 30 1.9 1.1 21 0.4 0: 0.02: 0.02 2 0.6 1.0
FrAy 20.00ig 7 0.2 0.0 4 0.0 0 0.01: 0.00 2 0.3 0.0
Hhhed 2.00ig 8 0.4 0.7 6 0.1 0: 0.00 : 0.00 0 0.0 0.0
B&F F-p-> 7.00ig 13 0.9 0.4 7 0.3 0 0.00: 0.01 0 0.3 0.9
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
mEER (FFR) 51 5.2 3.0 2 0.3 6 0.04 : 0.07 0 0.0 0.1
Kt 30.00ig 51 5.2 3.0 2 0.3 6 : 0.04: 0.07 0 0.0 0.1
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.3
B QTRM R & 223 : 15.2 i 14.9 9 0.6 32 0 0.06 i 0.17 3 0.2 0.7
B2H% 90.00 g 180 : 14.6 i 12.6 5 0.4 32 0.06  0.16 3 0.0 0.1
B&F -p=> 5.00ig 9 0.6 0.3 5 0.2 0 0.00: 0.01 0 0.2 0.6
RE (F=h-) 3.30ig 16 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
H <A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
IERHE 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
ME (AL ML 1.00i4 80 6.6 4.0 36 1.3 0 0.03: 0.22 0 2.7 0.0
5 E F 0 m ok 47 1.1 0.1 6 0.6 7:0.05: 0.03 21 1.0 0.3
Y RT k 60.00 g 46 1.0 0.1 2 0.2 0 0.05: 0.02 21 0.8 0.0
Bis 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.3
RIA FRw/—<F 0.01g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
=12 0.50ig 1 0.1 0.0 4 0.4 71 0.00: 0.01 0i 0.2 0.0
13 YVFIoYSH 1 0.3 0.1 9 0.1 9 : 0.01 : 0.01 8 0.4 0.0
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 : 0.01 8i 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0:i 0.0 0.0
12YF7o Ly 1.00ig 2 0.0 0.1 0 0.0 0: 0.00: 0.00 0 0.0 0.0
ZIL—YZIVIRX 33 0.2 0.1 3 0.1 1:0.01 : 0.01 3 0.8 0.0
ZIL—Y AT TIL (i50.00ig 33 0.2 0.1 3 0.1 1 0.01 0.01 3 0.8 0.0
Pa—R - &&E 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00ml 66 0.9 0.0 0.0
F5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
HEeait 775 ¢ 35.7 | 23.9 93 4.2 55 1 0.27 | 0.62 45 6.0 2.2
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Rir & i DR
REMAEE CHLEREABROREE TRK7ULLTUREAZa—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
TR BREF—XAL— 390 | 10.8 : 10.4 26 1.4 72 i 0.29 : 0.10 6 2.3 1.3
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
%A 30.00ig 66 5.6 4.5 2 0.3 4 0.19 : 0.07 1 0.0 0.0
FEHERXSARA1531):40.00i¢ 15 0.4 0.0 8 0.1 0 0.01: 0.00 3 0.6 0.0
SwHARTHE T 20.00ig 15 0.6 0.1 4 0.1 68 : 0.03 : 0.02 2 0.8 0.0
H == 5.00icc 46 0.0 5.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Big 0.80ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.8
RIA FRw/s—<F 0.10 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0: 0.0 0.0
hL—% 1.50 g 6 0.2 0.2 8 0.4 0: 0.01 0.00 0 0.6 0.0
DAB—YY—R {f=i 6.00cc 7 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.4
FE5SNABREFREDOR—T 11 0.9 0.0 21 0.2 50 : 0.03 i 0.03 4 0.6 0.9
F3NAE 10.00 ¢ 2 0.3 0.0 13 0.2 50 : 0.01 @ 0.02 2 0.3 0.0
FHERASGAA1531):20.00ig 7 0.2 0.0 4 0.0 0: 0.01: 0.00 2 0.3 0.0
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.8
$B5A5LEE 0.50ig 0 0.0 0.0 0 0.0 0 : 0.00: 0.00 0 0.0 0.0
R4 FARw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
LYY 120.00icc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0i 0.0 0.1
R—=U9Y5— 152 ¢ 11.2 | 10.3 1 0.3 3: 041 : 0.13 3 0.3 0.2
2N 60.00 g 130 © 11.0 8.8 2 0.3 3 040 : 0.13 1 0.0 0.1
EAHLICAIZCLH-h 0.50ig 1 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
FHERASGAA1531):20.00ig 7 0.2 0.0 4 0.0 0: 0.01i 0.00 2 0.3 0.0
B == 1.50 g 14 0.0 1.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BiE 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
R4 FARwy/s—< 0.02ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
hES 2 DEY 42 1.1 0.1 9 0.2 149 : 0.04 | 0.05 19 1.6 0.5
NERRS 50.00:g 41 0.9 0.1 i 0.2 149 : 0.03 : 0.04 19 1.6 0.0
LAy Y 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
E£B5ALEE 0.50ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
I—J)LRAA—YFHYS5H& 33 2.1 2.2 9 0.3 1 : 0.01 : 0.01 8 0.4 0.3
FrAy 20.00ig 5 0.3 0.0 9 0.1 1:0.01 : 0.01 8i 0.4 0.0
A5 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
SA4AFYFI2L—41{10.00g 28 1.8 2.2 0 0.2 2 0.00: 0.00 0 0.0 0.1
Bif 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.2
BY (JL—F2.L—Y) 14 0.3 0.0 5 0.0 0: 0.03 : 0.01 13 0.2 0.0
SJL—F7)L—Y (¢ 2.00i4] 14 0.3 0.0 5 0.0 0: 0.03: 0.01 13 0.2 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00: 0.08 9: 0.0 0.0
AL a—=R (i150.00m| 66 0.9 0.0 0.0
IF5 L% 150. 00im| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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=] il-L t 03 o)""'
REMHEE EHLERRBRORRE TRFZUILNTURBREA=Za2—
AVRRTL—TF e UKEt  EEEELT  HE BALTF (@)
(A—H—) BHOMWE. A—H—2DROEMEZRHBLTVET, FHEITRAPROEERZHLTVET,
TEEFREA—HD—TCHMELARZLTWVEVLDTY, §5tTIE. 0] ELTEHLTLET,

X5 HE BREA TALSE | B[ 144 - (keal) i =A< E (0) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
THER &8k 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00ig 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0 0.2 0.0
FTELT (A - Hho) 5 0.5 0.0 9 0.0 40 : 0.01 : 0.01 0 0.3 1.0
AS 5.00ig 2 0.0 0.0 1 0.0 381 0.00 i 0.00 0 0.1 0.0
Ay RIAA (f-h- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0 0.2 0.1
Bif 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
I=ANAY R 120.00icc 2 0.4 0.0 4 0.0 0 0.01 i 0.01 0 0.0 0.1
EROmEES 151 : 10.2 : 10.8 3 0.3 23 1 0.04 : 0.11 2 0.0 0.9
®BH1 60.00ig 126 : 10.2 8.8 3 0.3 23 1 0.04 : 0.11 2 0.0 0.1
B85 L4EE 0.50ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.20ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.4
RAA—)—X ()= 6.00:cc 7 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
A<= 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
1ALHBREOVDHED 56 4.8 2.3 19 0.3 60 : 0.03 : 0.04 17 1.5 0.6
LWAVEM (10g) <4120.00ig 18 3.6 0.2 3 0.0 3001 0.01 0 0.0 0.2
JOowy3gl)— 30.00:g 8 1.1 0.1 10 0.2 19 : 0.02 : 0.03 16 1.1 0.0
EHEAXASARX1531)i10.00g 4 0.1 0.0 2 0.0 0 0.00: 0.00 1 0.2 0.0
A 5.00ig 2 0.0 0.0 1 0.0 38 i 0.00: 0.00 0 0.1 0.0
A A= 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Figy) —ZXp=h-> 5.00icc 6 0.0 0.0 3 0.1 0 0.00: 0.00 0 0.1 0.3
Big 0.10ig 0 0.0 0.0 0 0.0 0i 0.00: 0.00 0 0.0 0.1
BIA FRy/N—<H 0.01 g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BERE C v A% 60 2.9 1.9 10 0.1 76 : 0.11 : 0.05 11 0.8 0.8
B /INE 10.00 g 17 2.0 0.9 0 0.0 0i 0.07 i 0.03 0 0.0 0.0
ALY RT k 25.00ig 19 0.4 0.0 1 0.1 0 0.02: 0.01 9 0.3 0.0
N 10.00: g 4 0.1 0.0 3 0.0 76 ¢ 0.01 : 0.00 0 0.3 0.0
FHEASARXR1531)]15.00¢g 6 0.2 0.0 3 0.0 0 0.00: 0.00 1 0.2 0.0
A A== 1.00:g 9 0.0 1.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
Big 0.70ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.7
oHE (F-h-) 1.00: g 4 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
=L/ 70.00icc 1 0.2 0.0 2 0.0 0i 0.01 i 0.01 0 0.0 0.1
BERT b 50 0.5 2.7 4 0.5 7 0.02: 0.02 4 0.7 0.2
Y 9 )LRT K 130.00 ¢ 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
=120 0.50ig 1 0.1 0.0 4 0.4 7 :0.00: 0.01 0 0.2 0.0
A A= 1.50:g 13 0.0 1.5 0 0.0 0 0.00: 0.00 0 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
I RYDYFHS 4 16 1.0 1.1 3 0.1 9: 0.00: 0.00 1 0.2 0.2
Ty 10.00: g 2 0.1 0.0 2 0.0 0i 0.00: 0.00 1 0.2 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 0.00: 0.00 0 0.0 0.0
A KYFIL—2: 500¢g 14 0.9 1.1 0 0.1 1:0.00: 0.00 0 0.0 0.1
Big 0.15ig 0 0.0 0.0 0 0.0 0i 0.00: 0.00 0 0.0 0.2
R4 FRws—<4 0.00ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
YASEY— 62 0.0 0.0 0 0.0 2 0.00: 0.00 1 1.0 0.0
HAKEY — 85.00ig 62 0.0 0.0 0 0.0 2 0.00: 0.00 1 1.0 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—Z (i150.00iml 66 0.9 0.0 0.0
F5 L% 150. 00im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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Ei'-Lt Ry 0)""'
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

T A —H—THMEARELTUDALLOTT, AHTE. [0) ELTAELTLET,
B5 2 BAE A28 | Bk e - (oal) ARCE @] BB | MWkGe) | (o) | IDAGue) | ESOBIME) | ESTB2Me) | EIDCMe) | BMEKGE | B9 @
HIEEZH FE(BfR 235 4.0 0.6 3 0.5 0 0.05: 0.01 0 03 0.0
LEA=E 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
BRIt (LWAFA - CohiF) 26 2.0 1.1 51 1.0 52 : 0.03 : 0.05 8 0.7 1.0
WAIFA 20.00:g 3 0.3 0.0 34 0.6 52 : 0.02 : 0.03 8 0.4 0.0
CedlEd4/4X10: 2.00¢g 8 0.4 0.7 6 0.1 0 : 0.00: 0.00 0 0.0 0.0
BHT <F-h=> 1.00:g 13 0.9 0.4 1 0.3 0: 0.00: 0.01 0 0.3 0.9
LSy ) 120.00:cc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0 0.0 0.1
g (1) 51 5.2 3.0 2 0.3 6 : 0.04 : 0.07 0 0.0 0.1
ARz 25.00:¢g 51 5.2 3.0 2 0.3 6 : 0.04 0.07 0 0.0 0.1
BiE 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.3
BAOYTFv v T 114 @ 10.1 6.7 5 0.2 5 0.36 : 0.13 2 0.3 0.6
2 ¥NE 50.00:g 86 9.9 4.7 2 0.2 2 036 013 1 0.0 0.1
FHEARAIAA1551):10.00:¢g 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
<A 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
RIA FRwy =<} 0.02:¢g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
Yo FryT ( 500¢g 6 0.1 0.0 1 0.0 3 : 0.00: 0.00 0 0.1 0.2
BHRAE 80 6.6 4.0 36 1.3 0 0.03: 0.22 0 27 0.0
ME (2L -mHL: 1.00 4 80 6.6 4.0 36 1.3 0: 0.03: 0.22 0 2.1 0.0
RT EEVFOEY 93 3.4 5.3 4 0.3 1 0.04  0.01 15 0.7 0.6
EYYRT E 40.00:g 30 0.6 0.0 1 0.2 0:0.04: 0.01 14 0.5 0.0
FAMYFIL—7:15.00g 40 2.1 3.3 1 0.1 110,00 : 0.00 0 0.0 0.1
FHEARAIAA1551):10.00:¢g 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
<A 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BEALICAIZLH-1: 0.50i¢g 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.50ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.5
R4 FRwy/—=<}: 0.01ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
AL—#H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
FTLLEYSH 24 0.3 2.1 10 0.1 9 0.01: 0.01 8 0.4 0.2
FyAY 20.00:g 5 0.3 0.0 9 0.1 1.:.0.01 : 0.01 8 0.4 0.0
A 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00: 0.00 0 0.0 0.0
ISAlzL 0.01ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.0
CEMIND 2.00:ig 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.30ig 0 0.0 0.0 0 0.0 0 :0.00: 0.00 0 0.0 0.2
A= Ic4{=)) 0.10ig 1 0.0 0.1 1 0.0 0: 0.00: 0.00 0 0.0 0.0
IN—VYIvIR 33 0.2 0.1 3 0.1 1 0.01 : 0.01 3 0.8 0.0
IN—YhYTI £50.00¢g 33 0.2 0.1 3 0.1 1: 0.01 : 0.01 3 0.8 0.0
Pa—R - T&HF 69 1.2 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
AL a—2RX (:150.00im| 66 0.9 0.0 0.0
F5 L& 150. 00:m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
HRSHE 125 33 23 118 4 14 1 1 45 6 3
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E:Ié: Ry ooﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(A—=H—) BHOME., A—H—ARORMEZRBLTLET, MIEHETHSROEERHLTVET .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA | TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
AiER BRBEE>/F (EHRFEE) 351 11.2 8.1 47 1.3 256 : 0.28 : 0.13 1 2.0 1.1
fAEX 150.00 g 235 4.0 0.6 3 0.5 0: 0.05: 0.01 0 0.3 0.0
%A 30.00ig 66 5.6 4.5 2 0.3 4 0.19 : 0.07 1 0.0 0.0
E3NAE 20.00ig 4 0.7 0.0 26 0.3 100 © 0.01 i 0.03 4 0.6 0.1
HHoL 20.00ig 1 0.7 0.3 5 0.1 0: 0.02: 0.01 1 0.5 0.0
AS 20.00:ig 7 0.1 0.0 6 0.0 152 1 0.01 : 0.01 1 0.5 0.0
nwy < (\) 0.50ig 3 0.1 0.3 6 0.1 0: 0.00 : 0.00 0 0.1 0.0
CFM<=h-> 3.00ig 28 0.0 3.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
BALICAIZLLH-: 0.50ig 1 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
BiE 1.00ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 1.0
BEkERRA—F 33 0.9 0.7 9 0.0 3:0.03: 0.02 1 0.7 1.0
BREERK-I-> 3.00ig 10 0.0 0.0 1 0.0 0 0.00: 0.00 0i 0.1 0.0
hA—)a—> 15.00 ¢ 15 0.4 0.2 1 0.0 1:.0.02: 0.01 1 0.4 0.0
Ay FIAA G- 0.50ig 1 0.1 0.0 4 0.0 2 0.00: 0.00 0i 0.2 0.1
BiE 0.80g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
R4 FARw/s—<H 0.01ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0: 0.0 0.0
1A WAYY 120.00:cc 2 0.4 0.0 4 0.0 0: 0.01: 0.01 0i 0.0 0.1
CFEm<A--> 0.50ig 5 0.0 0.5 0 0.0 0 0.00: 0.00 0i 0.0 0.0
BRRXAZ S TS 140 @ 12.2 1.6 11 0.3 10 : 0.45 : 0.16 8 0.8 0.7
2N 60.00: g 103 © 11.8 5.6 2 0.2 2 0.43: 0.15 1 0.0 0.1
EALIZAIZLLA=hi 0.50ig 1 0.0 0.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
IZAIZ DEF 15.00 ¢ 7 0.3 0.0 6 0.1 8 : 0.02: 0.01 6 0.6 0.0
FHERASGAA1531)[15.00ig 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
B == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.0
BiE 0.20g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0:i 0.0 0.2
DARA—Y—R {}=i 6.00icc 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.4
Lot DHADIT 53 1.1 0.0 4 0.3 0: 0.07 | 0.03 21 0.8 0.5
LYY ART b 60.00:g 45 0.9 0.0 2 0.3 0: 0.06 : 0.02 21 0.8 0.0
LAy Y 70.00:cc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0i 0.0 0.1
E£B5ALEE 1.00: g 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
13 VFIoYSHE 1 0.3 0.1 9 0.1 9 : 0.01 : 0.01 8 0.4 0.0
FrAy 20.00ig 5 0.3 0.0 9 0.1 1 0.01 0. 01 8 0.4 0.0
AS 1.00:g 0 0.0 0.0 0 0.0 8 : 0.00 0.00 0:i 0.0 0.0
A R2Y)F72 Ly 1.00g 2 0.0 0.1 0 0.0 0: 0.00: 0.00 0 0.0 0.0
2% (L) 9 0.2 0.0 5 0.1 2 0.02: 0.01 9: 0.2 0.0
F—JIA LD ( 2.004] 9 0.2 0.0 5 0.1 2 002 0.01 9 0.2 0.0
Pa—R - &% 69 1.2 0.0 5 0.3 0 0.00 : 0.08 9: 0.0 0.0
AL a—=R (i150.00m| 66 0.9 0.0 0.0
IF5 L% 150. 00:im| 3 0.3 0.0 5 0.3 0 0.00: 0.08 9 0.0 0.0
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E:Ié: Ry oaﬂﬁ
REMHARE CHEBREBRORRE TRKTFUILTVBREAZ2—

AURRTN—TO v vkst EEEBEL  HEH BEF (@)

(FA—h—) BHOBME, A —H—2ROFEMEZRBLTVES . MEETHAARDOEZREHRLTLES .

TEREFRIEA—H—THEMEARZELTVWEVEDTY, A TIE. [0 ELTEELTVET,
X5 HE BRA TAESE | BT84 - (keal) i = AIE < E (2) BE® (@ Hvgh (mg) % (mg) L 93VA(ug) | £ 53UB1(mg) § ET43UB2(mg) i £ 43VC(mg) i BEEE (2) B9 (@
HiEZH S&EfR 118 2.0 0.3 2 0.3 0: 0.03 : 0.01 0 0.2 0.0
LA=ES 75.00g 118 2.0 0.3 2 0.3 0: 0.03: 0.01 0i 0.2 0.0
TELHT (H:-Hbhd 6 0.7 0.0 15 0.1 3: 001 : 0.01 1 0.6 1.2
E# 10.00ig 3 0.1 0.0 3 0.0 0: 0.00i 0.00 1 0.2 0.0
Ay FIAA (b=p- 1.00ig 1 0.2 0.0 8 0.1 3:0.00: 0.00 0 0.4 0.2
Bis 0.80ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.8
= WAYR7 120.00icc 2 0.4 0.0 4 0.0 0: 0.01 0.01 0 0.0 0.1
B ZFokmEpE 133 : 10.7 1.5 19 0.5 2  0.36: 0.14 1 0.3 0.7
2 NG 50.00:ig 86 9.9 4.7 2 0.2 2 0.36: 0.13 1 0.0 0.1
B&F F-1—> 500ig 10 0.6 0.3 5 0.2 0 0.00: 0.01 0 0.2 0.6
hoRE (A=) 3.30ig 13 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
H == 2.00icc 18 0.0 2.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.0
A E=kd(=)) 1.00 g 6 0.2 0.5 12 0.1 0 0.00: 0.00 0 0.1 0.0
fEQhERSIEL 83 | 12.4 1.8 19 0.5 9 { 0.07: 0.23 9 0.6 0.3
=5 30.00ig 56 ¢ 12.0 5.8 8 0.4 8: 0.06 0.22 0 0.0 0.1
FrAy 20.00 g 5 0.3 0.0 9 0.1 1 0.01 : 0.01 8 0.4 0.0
FHERASAA1531):10.00ig 4 0.1 0.0 2 0.0 0: 0.00: 0.00 1 0.2 0.0
ICAIZK 0.10ig 0 0.0 0.0 0 0.0 0 0.00: 0.00 0:i 0.0 0.0
CEim<-h-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0i 0.0 0.0
Bis 0.20ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.2
HRIA FRw—<F 0.01 g 0 0.0 0.0 0 0.0 0: 0.00i 0.00 0: 0.0 0.0
BE0hHL—HALIT 56 1.7 0.3 26 0.9 77 ¢ 0.07 | 0.03 3 2.0 0.5
Bx 50.00ig 36 1.1 0.1 10 0.3 0 0.04: 0.01 3 1.0 0.0
AS 10.00:g 4 0.1 0.0 3 0.0 76 1 0.01 ¢ 0.00 0i 0.3 0.0
LAy Y 70.00icc 1 0.2 0.0 2 0.0 0 0.01: 0.01 0:i 0.0 0.1
hL—% 2.00ig 8 0.3 0.2 11 0.6 1 0.01 0. 01 0 0.7 0.0
BiE 0.40ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0i 0.0 0.4
AEH 2.00ig 1 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
254 FRT & 49 0.4 2.7 1 0.1 0: 0.02: 0.01 4 0.5 0.1
U )LART ~ 130.00ig 35 0.4 1.2 1 0.1 0: 0.02: 0.01 4 0.5 0.0
B == 1.50g 13 0.0 1.5 0 0.0 0 : 0.00: 0.00 0i 0.0 0.0
Bif 0.10ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.1
FRLEbhedHDF LIV 24 0.8 2.1 14 0.2 3: 001 : 0.02 3 0.8 0.4
HOL 30.00ig 5 0.6 0.0 5 0.1 0 0.01 0.02 3 0.4 0.0
Ay kA A G- 1.00:g 1 0.2 0.0 8 0.1 3: 0.00: 0.00 0 0.4 0.2
Big 0.30ig 0 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.2
CEM<-h-> 2.00ig 18 0.0 2.0 0 0.0 0 0.00: 0.00 0 0.0 0.0
ICAIZK 0.01ig 0 0.0 0.0 0 0.0 0: 0.00 : 0.00 0 0.0 0.0
wy3< (@) 0.10ig 1 0.0 0.1 1 0.0 0 0.00: 0.00 0i 0.0 0.0
RESEY— 50 0.0 0.0 0 0.0 0: 0.00: 0.00 0 0.0 0.0
HFEAKEY— 50.00ig 50 0.0 0.0 0.0
Pa—X - &% 69 1.2 0.0 5 0.3 0: 0.00 : 0.08 9 0.0 0.0
AL a—R (i150.00m| 66 0.9 0.0 0.0
F5 L& 150. 00 m| 3 0.3 0.0 5 0.3 0: 0.00: 0.08 9 0.0 0.0
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